[ Efficiency vs vertpos |
~ 0.7

20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0}

.................................................

................................................

Py

R - * ............
- :ﬁi:_ :%':::_::+:::+::_+:+;;;+4+"

1072 107 1

IRARRN AR AR RS I RRR RN RRN LR RNl RARRNRARRN LARLE RRRRN RRRR)

10
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
Efficiend —— pom_v0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

~ 0.1

20.09

n

> 0.08fH

>

2

90'07 i

3]

£ 0.06

(]
0.05(
0.04 1
0.03fr
0.02f [t §
O 1 1l

T ey

-30 -20 -10 O 10 20 30
TP vert z (cm)

Ratio

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
1S
=0.04
$.035
z
c 0.03
%)
8.025
(0]
0.02fF ; : ; : :
0,008 | ---voer v o JH L
0.01 ;
0.005

0
1.4

Ratio

...............

1.2

-10 LO 15 20

Sim. PV z (cm)



	Contents
	Page 1


